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EM: Corporate Debt % GDP
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China: Rebalance Growth
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China: Easing Credit Conditions

Benchmark rates on loans of as much as a year Reserve ratio for large banks
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High, Medium and Low Wage Job Creations
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High, Medium and Low Wage Job Creations
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Turbulence in
Emerging Markets and
Impact on KoreaV

Sung-won Sohn

Martin V. Smith Professor of Economics
California State University, Channel Islands

Today my discussion will mostly be about emerging markets and
Korea. I flew in from China where I spent three days discussing
economic conditions in China and elsewhere. If you look at the
conclusion around the world, the global economy is slowing. Every
meeting I went to in China was talking about slow economic growth,
deficient demand, etc. That seems to be the underlying theme. Also, in
China deflation and disinflation are a problem. A couple of days ago, the

consumer price index (CPI) and the producer price index (PPI) numbers

1) This is a transcript of the speech by Dr. Sung-won Sohn at the IGE/Samsung Electronics
Global Business Forum on November 12, 2015. The views expressed here are the

speaket’s.
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came out. CPI is approaching zero and the Chinese are very concerned
about that. They think that it is because of deficient demand. Not only is
CPI approaching zero, but also PPI has been declining for several years.
Towards the end of my talk, I want to spend some time talking about
the Korean economy. I know you spend a lot of time hearing about
the Korean economy, but I think it will be beneficial for you to hear an
outsider’s view of how the Korean economy is unfolding,

As far as the Korean economy is concerned, my conclusion is that
there are many things the government has, is and will do. One of the
things I would like to recommend again is for the Bank of Korea (B0OK)
is to cut the interest rate to zero as soon as possible. I will go into greater
detail later as to why I think the BOK should be cutting interest rates,
not one percent at a time but to zero for the benefit of the Korean
economy in the context of the global economic conditions. When you
have a slowing global economy and deflation and disinflation concerns
wortldwide, Korea is no exception. If you look at the global economy as
an ocean, an economy such as New Zealand, Korea or Japan as one ship
cannot overcome the massive currents in the ocean; therefore, you have
to do what you can do to stabilize your boat. I am saying that as one of
the things the government can do for the BOK to cut interests rates to
zero as soon as possible.

First, I will talk about the global economy. We are seeing a gradual
pickup in developed markets. If you exclude the US, there is not really
much economic growth to speak of. There are three reasons for this
global gradual pickup in developed markets — currency, oil prices and

quantitative easing (QE). First, the euro has depreciated quite a bit as well
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as the Japanese yen. Currency depreciation against the dollar is positive.
Second, the price of oil is like a tax cut. It is helping many economies
around the world. QE has continued and will continue to be an
important policy tool. I think this is one of the reasons why developed
markets are coming out of an economic slump, even though it is not
going up very rapidly. If you look at Europe, the jobless rate has gone
up quite a bit but it is beginning to edge down, moving in a positive
direction. Even though the economy is doing better in Europe, there is

no excitement out there.
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This morning, my primary conversation with you all is about the
emerging markets. The best way to describe it is “the tide is going out.”
A couple of years ago emerging markets were the locomotive in pulling
the global economy up and forward, including China. That is no longer
the case. People are concerned about emerging markets and its impact

around the world, including Korea, US, Europe, etc. There are three
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key issues with regards to emerging market concerns. Firstly, China’s
slowdown. For example, 25% of Korea’s exports go to China. Those
exports are slowing down. The Chinese slowdown is having global
repercussions. Secondly, low commodity prices. Many countries like
Brazil and Indonesia and even Australia and Canada are all suffering
because China is not buying as much as they used to. Thirdly, the US
Federal Reserve is about to hike the interest rates in December.

Just to give you numerical examples on how important China is to
the global economy, the graph below illustrates the export exposure
to China as a percent of GDP. In case of Korea, at 10.3%, is the
highest; Malaysia, 8.6%; Chile, 7.1%; and Indonesia, 2.0%--smaller in
comparison to Korea but still a significant sum. When China’s economy

slows, it is going to have global repercussions.

EM: Export Exposure to China
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Developed markets are also adversely affected by the economic

slowdown in China. 11% of Germany’s exports, for example, go to
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China. The fastest growing market for Mercedes-Benz and BMW is
neither Korea nor the US, but China. The fastest growing market for
golf clubs is also China. Countries from Germany, Italy, Japan and
all these countries are all starting to feel the impact of an economic

slowdown in China.
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We are talking about why emerging markets are not what they used
to be in terms of economic momentum. In addition to China, another
reason is commodity prices. Commodity prices are trending down,
which relates to China not purchasing as much. In terms of currency
values, I divide the emerging market currencies into two categories:
commodity EMs and manufacturing EMs. They are both depreciating
and will continue to, but commodity EMs is depreciating much faster
compared to other countries.

EMs have a lot of debt what economists call the “new sin”. If you

add the government debt on top of the corporate debt, that is a lot of



debt. EMs are suffering from a tremendous amount of debt, which
has quadrupled in the last 10 years or so. Not only have they increased
the total amount of debt, but they have also ended up borrowing a
lot of money overseas in US dollars, Japanese yen, and the European
euro. Why? Because interest rates are low, but without realizing that
their currencies could depreciate. Their currencies have depreciated, so
emerging markets are having difficulty servicing the debt denominated

in dollars, yen, and euro.
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Because of all the economic problems and some other concerns
about the interest rates, no wonder capital is flowing out. It is true about
emerging markets but also China as well. In the graph below you can
see the net capital outflow in emerging markets. Whether or not it will
accelerate is a concern we have. When you talk about the “new sin” or
the emerging market debt, in 2015 alone we have seen capital outflow

approaching near US$1 trillion. By the end of this year my estimate is
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that it will probably be about US$1.25 trillion. These countries that have
a current account deficit need capital inflows, not outflows. Yet, there is a
massive outflow. This is one of the reasons why we are seeing economic

problems in emerging markets and their currencies are depreciating;
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As the capital outflow continues, it is not surprising that foreign
currency reserves are declining in almost every emerging market nations.
They are losing reserves. The question is how long it will last. Brazil is
a good example. Brazil is one of the main commodity exporters. The
price of iron ore has dropped tremendously. It used to be as high as
$125 a ton but now it is around $30 a ton, a quarter of what they used to
get. This is hurting the Brazilian economy and cash flows. Also, current
accounts used to be massive and positive when China was buying a
lot of iron ore from Brazil. China is not buying as much now, causing
a current account deficit in Brazil. As you know, “current account” is

just an economists’ jargon for cash flow; a nation’s cash flow is called



a current account. As you can see, Brazil is experiencing negative cash
flows.

Not only that, Brazil’s currency has depreciated 60%, in part because
they are not selling as much to China. On the other hand, because their
currency has depreciated so much, there is a cause for inflation. Inflation
is approaching double digits, so the economy is slowing and money is
going out. Deficits are very high and inflation is high. In this situation,
the central bank has to raise the interest rate. What Brazil needs is a low
interest rate rather than a high interest rate, but the central bank has
no choice. Money is leaving the country, so they are trying to protect
their reserves by raising the interest rate. When you raise your interest
rate, what happens? It slows economic growth even more. They are in
a catch-22 situation. Even in the United States we are seeing American
exports to Brazil slowing. The US is suffering as well because China is
not buying from Brazil, causing the Brazilian economy to slow, resulting
in Brazil not buying California wine and other exports from the US. It
goes round and round.

During my trip to China I met with 20 economists and government
officials. Now I am pretty up to date about what is happening in China.
We all know that the economy is slowing, That is not news. The question
is whether this will be a soft or a hard landing. What is the government
doing about it? What impact will this have on the global economy? The
Chinese government has talked about economic, social, and political
reforms. All these reforms are hinged upon the economy doing well.
The Chinese government had a contract with the people. They said,

“Leave politics to the Communist Party and then you will live well.” That
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has worked out well for the last 20 years or so. It is starting to become a
little shaky. Because economic growth is slowing down, the government
cannot engage in the reforms we talked about. The most important
consideration of the Chinese government is to make sure that economic
growth stabilizes. Then, they may eventually proceed with the economic
reforms but not right now.

We all know that economic growth has fallen to 6.9% year-on-year
in the third quarter. However, people in China are saying that this is a
mirage and that they have growth much lower than 6.9%. Money is
going out of China’s foreign exchange reserves. They are losing money.
This is due to a capital outflow. China has a lot of foreign exchange
reserves but if you lose money at this rate, even China is going to feel
the impact. Many people in the United States say China’s economy does
not matter to them because the United States exports so little to China,
mainly some food, scrap metals and used paper. However, that is not
quite true. If China’s economic growth falls by 1%, what impact does
it have on your economy? The economic growth will fall by 0.21% in
Japan; 0.16% in the Eurozone; and 0.11% in the US. About 6-7 years
ago China’s economy used to grow at 12-13% a year but it has been
cut in half. Multiple that by 0.11% and you can see its impact on the
US economy. I argue that one of the reasons why the US economy is
not doing as well as expected is because of China. It is shaving off a
significant portion of economic growth because of what is happening

in China and other emerging markets.
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People ask, “Why is China’s economy slowing so rapidly?” Here is my
theory. In 2007-09 we talked about QE in the US, by the Bank of Japan,
and by the European Central Bank. The most aggressive QE was from
the People’s Bank of China right around the time of the financial crisis.
They were concerned about economic slowdown, so they really created
lots of liquidity. The question is where the money went. In China, they
built walls around the economy, so that money could not leave. China
also has one of the highest savings rates. The savings rate in China is
about 35% of GDP It is one of the reasons why consumption is not
very high in China. Where does the money that people save go? That
money actually stays within China. Also, Chinese corporations and local
governments borrowed a lot of money. In 2008, China’s debt-to-GDP
ratio was 80%; in 2014 it was 300%; and this year we estimate it to be

325%. I am giving you three sources of liquidity. First of all, the PBoC
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gave massive QE; no one called it QE but it was. Secondly, people save
a lot of money. Thirdly, they borrowed a lot of money not only from
within the country but also from overseas. The government built a fence
around the country, ensuring that the capital stayed within the country.
The money went to real estate, cement factories, steel mills, etc.

Now today they have lots of excess capacity. You go to Shanghai
and look at Fudong from across the river in the middle of the night,
about half of Fudong is empty. Why? Because they engaged in a lot of
construction but they are not selling, The point I want to make is when
you have all this excess liquidity and building things, growth goes up.
Now we see the flip side of the coin. We have economic growth on
steroids in China because of all the excess investment. But now they
realize that there is too much capacity and too many condos that people
cannot buy, therefore they are trying to slow down. When you slow
down, the economy’s growth slows and that is what we are beginning to
see.

I am saying that this is not a temporary phenomenon. This will
continue on for a while. Not only real estate but also the old economy
of China is slowing such as export-oriented manufacturing, etc. The
government wants the new economy such as financial services to
take up the slack, but it is not taking up the slack fast enough. The old
economy is slowing rapidly because of excess capacity, but the new
economy is not picking up as rapidly. When you put the two together,
you can see where the significant slowdown is coming from. That is
what is happening in China right now. The Conference Board is saying
that between 2015 and 2019 the economic growth will be 5.5%; the IMF
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says 6.6%0; the World Bank says 7%. However, when I talked to some of
the Chinese economists, they were saying that some of these numbers
are too high. Clearly, there is a problem.

The government wants to really rebalance the economy in China. In
the past much of the economic growth came from so-called growth
investments—building highways, condos and such. But they want to
change the mix of the economic growth and they call that rebalancing;
They want household consumption to be going up. Household
consumption has begun to rise but not as rapidly as the government
wants. Here again is a transition problem. The government wants
consumption to be rising rapidly enough to offset the slowdown, but
that is not what is happening, so that leads to economic slowdown in
China.

China: Rebalance Growth
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The key question is whether we are going to have a hard landing or
a soft landing, China has two things that neither Korea nor the United
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States have: 1) the government has controls; and 2) like the United States,
fiscal policy is not an option because the government has so much debt.
China has $4 trillion in reserves. China has both money and controls.
If they want a soft landing, they shall have it. I think the possibility of
a hard landing is out of the question. Also recently, they have been
easing credit conditions. One of the questions people ask me is why the
Chinese economy is not perking up if the PBoC has cut interest rates
already six times this year. They cut interests rates but if you look at what
economists call the monetary base, it has been stable or shrinking, So if
you look at the Chinese economic activities, it is in part being affected by
the fact that the monetary policy this month has been fairly tight. Even
though in 2007-09 it was fairly loose, in recent months it has been faitly
tight. That is one of the many reasons why PBoC is trying to reverse it.
Now; let’s talk about the United States. In the United States, we are
seeing a nice rise in employment rates. This is very important to Janet
Yellen. As a Keynesian economist Janet believes in something called
the Phillips curve. The Phillips curve is an economist jargon that simply
means that when the employment rate goes down, the inflation rate
goes up. Employment gains are rising and economic activity is gaining
some momentum in the United States, so sooner or later they should
be raising the inflation rate, but of course, that is not what is happening;
The labor market is tightening. Also, I divided the US job creation into
three categories: high, medium, and low. More than half of the jobs we
are creating are red, which means high-paying jobs. When I was a staff
economist at the White House many years ago, one of my jobs was

calculating potential GDP for the US economy. We used to have 3.5%;
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today the potential GDP growth rate is around 2-2.5%, which still puts

us above the Fed’s long-term economic growth rate.

China: Easing Credit Conditions
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The Federal Reserve has two mandates called the Humphrey-
Hawkins Act. One is full employment and the other is price stability,
making sure we have a lot of jobs and inflation does not get out
of control. Today, we are not concerned about inflation, but about
deflation or disinflation. My main concern about the global economy;,
including the US and Korea, is not inflation but global deflation or
global disinflation. The jobs market is increasing reasonably well, but
the CPI of the US points that services are not going up. Why? Because
there is no foreign competition. Rather, there is import competition, so
prices have fallen. For example, over the past couple of years the price
of a television set in the US has fallen by almost 58%. But if you try to
buy cable or satellite services, that has gone up by 14% simply because
it is a service. Clearly, we have deflation on the goods side but inflation

on the service side. One of the questions Janet Yellen faces is why wages



are not going up. In the US, about 65% of the CPI comes from wages.
If wages are not going up, you are not going to have inflation. That is
one of the problems she is facing

Finally, I would like to share an outsidet’s view of the Korean
economy. We all know that Korea’s economy has slowed quite some
time until the third quarter when it rebalanced. A lot of people are
asking how. The economy is rebounding; a new trend has been
established; and we can look forward to a better, stronger Korean
economy. Is this really the case? My conclusion is that it is not the case.
Let me go back to the bigger picture: The Korean economy is important
but when you look at the global background, deflation, disinflation, lack
of demand in China, Europe, Japan, etc., I do not think the Korean
economy will be an exception. This rebound we see in the third quarter
will not be a continuous situation. If you break down the composition
of the Korean economy, especially in the third quarter, a significant
position of that was through inventory buildup, which is not necessarily
good. Inventories are building because people are not buying as much.
Another concern is that both imports and exports are going down.
Exports are going down faster than imports, which is not a good sign.
Thirdly, consumer spending is doing better in part due to some of the
government programs. The point is when you adjust for all of those
changes, the economy grew 2.6% from a year ago, but when you take

out things like inventory buildup, it is only around 2%.
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If you look at the exports by destination, exports to the US are
falling down more rapidly than the EU, ASEAN, and even China. The
other concern is Korea’s CPI I talked about the difference between
goods and services in the United States. You have a similar situation in
Korea as well. Services prices ate slightly going up and goods prices are
falling. I firmly believe that Korea is also suffering from deflation and
disinflation, and this is one of the reasons why I say the BOK should
pay more attention to it. In January of this year the government raised
the tobacco tax, which is why CPI went up. That is what is holding up

the CPL If we take it out, Korea’s CPI is not as high as it seems.
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The last thing I want to talk about is the BOK. Again, my conclusion
is that they should go to a zero percent interest rate as soon as possible.
There are some reasons people say the BOK cannot lower the interest
rate to zero. In fact, they may or may not lower the interest rate right
now—it is currently 1.5%, which is their benchmark rate. By the end of
the year, they may go to 1.25%. My explanation to that is that consumer
spending is very important in any economy worldwide. Consumer
spending, with the exception of the 3rd quarter, has been pretty
sluggish. The reason for this is due to the real interest rate being too
high. The real interest rate is the difference between the nominal interest
rate minus inflation. Because the inflation rate is falling, real interest rate
goes up. When the real interest rate goes up, consumer spending and
economic growth slows. I am saying we should lower the real interest

rate. How do you do that? We need to reduce the nominal interest rates
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by the BOK.

When you look at the Korean consumer spending, which is about
65-70% of GDP, as well as the household consumer, much of the
consumer debt is floating rates. So if the BOK lowers interest rates
faster, that will have a positive impact on the floating interest rates. A
related question people raise is that one of the reasons why the BOK
cannot lower interest rates is because the Korean households have too
much debt. This is because Korea has one of the largest underground
economies. Therefore, Korea’s GDP is probably a lot higher and
stronger than what the government’s statistics show. What you really
need to look at is a debt-to-GDP ratio. If you look at the debt-to-GDP
plus the underground economy, really the ratio is not as high as what the
BOK thinks.

Also, liquid assets are very important. If you look at the BOK’s
household balance sheet, they have a lot of liquid assets, for example,
bank deposits. The composition of assets is important in judging how
much debt they can tolerate. Another point people make is that the
Federal Reserve will raise its interest rates and why the BOK should
lower its interest rates. Then I reply that just because the US Fed is
raising the interest rate does not mean the BOK should, too. When
the Fed engaged in QE a few years ago, Korea did not. Korea does not
have to follow the Fed. In addition, thete is a concern about the dollar
outflows. There may be some dollar outflows but I do not think it will
be significant. Korea is a very healthy, strong economy and people have
a lot of confidence in the economy. I do not think simply because the

BOK brings down the interest rate to zero, we will see massive capital
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outflows, especially in the face of the Federal Reserve raising interest
rates.

Korea now has foreign exchange reserves of over US$300 billion.
That is a lot of money. One of the reasons why we all save is because
you want to be able to use the money on rainy days. I am not saying we
should exhaust the foreign exchange reserve account, but we should be
able to use some of that money. Monetary policy may adversely affect
some sectors of the economy, but first things first, which is you want to
make sure the economy can grow. There are many tools at one’s disposal
but the quickest thing you can do is the central bank to lower interest
rates. I think that is one of the things the BOK should do and hopefully
will do. That will go a long way in stabilizing the Korean economy in this

turbulent economic situation.
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In view of the Fed’s interest rate hikes expected soon, what
impact do you foresee on the Korean economy, including

exports and capital outflows?

A Itis highly likely that the US Federal Reserve will hike the interest

rate in December. Today, the BOK Monetary Policy Committee
is meeting today, so my expectation is that they will keep the interest rate
stable at 1.5%, despite my advice this morning, Capital outflows and
exports are very important, but my argument is that you cannot take care
of everything; monetary policy is a blunt tool. The first thing of utmost
importance is growing the Korean economy. The Korean economy,
despite a slight rebound in the third quarter, is suffering from the global
disease such as economic slowdown, deflation, disinflation, etc. First, we
need to lower the interest rate to help the Korean economy move away
from slow economy and deflation.

And T think there might be some capital outflows, but the global
confidence in the Korean economy and financial markets is very high.
I think that is important. The reason why money is leaving Brazil is
not because of the interest rate but because the Brazilian economy is
slowing rapidly. The Brazilian currency has depreciated 60% over the
last 12 months, primarily because investors do not have confidence
in the Brazilian economy and policy making, which is not the case in
Korea. There may be some capital outflows but I do not think it will be
significant and will be manageable. Saving is necessary for those rainy

days. The same is true for the Korean economy with close to US$400
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billion in reserves. If some of that money goes out, that is not unusual.
We could lose US$20-50 million but eventually that money will come
back. We should view the reserves as a cushion, a shock absorber. As
far as exports are concerned, there are two factors which affect exports.
One is called income effect which means when the global economy
slows, income effect is not positive. Korean exports are slowing
primarily because China is not buying and China is not buying because
its economy is slowing. Economic slowdown globally is the biggest
problem.

The second determinant is the exchange rate. In recent months, the
Korean won has strengthened against the dollar, which is one of the
reasons import prices are falling. I would like to see the Korean won
depreciate, so that it could compete more effectively against the Japanese
yen and other countries’ currencies. We should not cut the interest rate
primarily to depreciate the value of the Korean won. If we lower the
interest rate in Korea, one of the side effects will be the depreciation of

the Korean won, which will help Korean exports.

I have been reading reports by some economists about the
Q repatriation of the dollar to the US. We are talking about a new
bubble in Wall Street. At the same time, there is going to be further re-
pricing in the financial market in Asia because of the impending interest
rate hikes in the US. How are you going to diversify your portfolio of
the California Pension Funds, taking into account all the uncertainties in

the financial market in the world today?
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A At my new job as commissioner that I will be starting when 1
return to the States, we are managing money for the long term,
such as employee retirement. Therefore, my outlook is on the next 20-
30 years. When I look at the next 20-30 years, there will definitely be
more action overseas—in Korea, Indonesia, Switzetland, and other
nations. I certainly believe emerging markets will grow faster and there
will be more opportunities to invest overseas. My inclination is to
gradually shift investments away from developed markets to emerging
markets. We set a long term asset allocation, likely with 70% of it in the
US and 30% overseas; then over time the investment portion in the US
may become 65% and 35% in emerging markets like in Indonesia. In
the short term there is what we call a tactical allocation to take advantage
of the short term opportunities. In this case, the US stock market has
been and is clearly doing better. Even though our long term target right
now is 70% US, we may actually increase it to 75% to take advantage of
opportunities in the US in the short run. Another thing we want to be
doing is industry emphasis - I'T, healthcare, etc. that will be important.
We want to move away from commodities and old manufacturing,
In China they are doing the same thing; they are trying to deemphasize
the old economy and emphasize the new economy. But the problem is
the old economy is going down but the new economy is not going up
fast enough, so when you put the two together you have an economic
slowdown. To answer your question, I certainly am a fan of emerging
markets, so hopefully in may 5-year term I will definitely be emphasizing

emerging markets.
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One observation in regards to depreciation of the Korean won
Q and depreciation in general, many countries think depreciation
will help their economy. I think Switzerland is a country which is doing
well, even though our currency has always appreciated very much. I
think that kept the Swiss economy running and competing all the time,
which has given us a lot of benefit instead of depreciation. Regarding
China, I do not think we should be so surprised that the Chinese
economy has been slowing down because the Chinese government has
been announcing this for many years. They will rebalance their economy.
They think this kind of structural change has its costs in terms of slower
growth over a certain period of time. How long will it last until the
structural adjustment shows a positive effect? Also, will there be another
petiod of high growth in the future?

A I think Switzerland is a very good example. The Swiss currency

has been appreciating for quite some time up until recently.
Despite the strong currency, the economy has done very well. There are
many reasons for that but one of the reasons is productivity gains. In
terms of productivity gains Switzerland has done very well. The same is
true in Germany.

Pertaining to your question on the length of structural changes in
China, the Chinese government really wants to speed up the structural
changes process, in part because of pressure from the outside, including
the US, Indonesia, and Switzerland, etc. The one area they have made

a significant progtess is financial services. They have eliminated almost
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all the regulations on interest rates— both lending and deposits— and
tore up a lot of variables in the financial market, allowing money now to
go in and out more freely. Shortly, I fully expect the IMF to include the
renminbi as one of the reserve currencies of its Special Drawing Rights
(SDR) basket. China has done a wonderful job even though there is more
to be done. There are other areas that they need to change, trying to
increase consumption. They also want to move more people from the
agricultural areas to cities. China claims its agticultural productivity is
zero. When people move from agriculture where productivity growth is
zero to cities, the productivity gains will add 2-3% to productivity, which
will add to economic growth. But in the face of a significant economic
slowdown, structural reforms have to be put on the back burner. I think

it is going to take much longer than what you and I anticipated earlier.
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